MEASUREMENTS
**NOTE:  The LENGTH problems are in DARK BLUE; the TIME problems are

       in GREEN; and the WEIGHT problems are in BLUE.

I.  LENGTH:

1. 
Mary’s food container weighed 50 pounds (lbs).  She ate 32 ounces of food out of her container each day.  After 5 days, how much will her food container weigh?

A. 45 lb.
B. 18 lb.
C. 40 lb.
D. 10 lb.
E. NH

2.
In Albany, New York there was 7.678 inches accumulation of snow in one 

hour.  If the temperature continues on this same pattern, how many inches of snow will be accumulated in ten hours?

3.
A football field is l00 yards long.  Harry ran the entire football

field.  How far did he run in feet?
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                                               100 yards = ? feet

4.
How would you distribute equally a 36-foot long piece of bolt material to 

four girls who only wanted theirs in inches?

                                                     Material
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                                                                               12 inches = 1 foot

A. 39 in.
B. 144 in.
C. 432 in.
D. 12 in.
E. NH

5.        Harry’s father told him to rake the leaves in the yard 3 times a day for 3 

          minutes each time.  How many minutes will Harry rake the leaves in his

          yard if he does this for 5 days?

A. 14

B. 45

C. 30

D. 63

E. NH

6.        A soccer field is 120 yards long.  The A team ran the length of this 

           Soccer field.  How far did they run in feet?  Note: 1 yard = 3 feet


7. Donald’s Delicatessen decided to make a 300-foot long submarine sandwich 

for the graduating seniors at Palmer High School.  The sandwich is split into  how many feet per piece to feed 75 seniors.

A.  375 ft.
B. 75 ft.
C.  4 ft.
D.  3 ft.
E. NH

8.
The chart below shows the average amount of rain that fell in Miami, Florida four times during the month of June.

RAINFALL IN MIAMI DURING THE MONTH OF JUNE

	Dates
	Average Rainfall

	June 1
	4.87 inches

	       June 5
	            3.75 inches

	       June 12
	            3.98 inches

	June 20
	            3.56 inches



What is the average amount of rainfall in Miami, Florida during the four 

days in June?

9.
Mr. Paul is 76 inches tall.  What is Mr. Paul’s height in feet and inches?

A.  7 ft. 6 in.
B.  6 ft. 4 in.
C.  6 ft. 8 in.
D.  6 ft. 6 in. 
E. NH

10.
Mr. Evans travels by car to Los Angeles, California from Miami, Florida.  If 

he travels at a rate of 460 miles per day, how far will he travel in 3.5 days?

A. 1610 mi.
B. 1510 mi.
C. 463.5 mi.
D. 1580 mi.
E. NH

11.
Sheila made a chart to see who threw the ball the farthest.   The children are 

listed in alphabetical order.

	Child
	Length of Throw (in yards)

	Janice
	 9.6

	Paul
	 9.7

	Phillip
	 9.40

	Rebecca
	9.59


Which child threw the second farthest?

A.  Janice
B.  Paul
C.  Phillip
D.   Rebecca

E.  NH

12.
Florida City Elementary students are painting an 18 ft. X 21 ft. painting for the auditorium.  One can of paint covers 65 square feet.  How many cans of paint are needed to cover the entire painting?

13.
The teacher is giving a $20 prize for the first student who completes the puzzle.  Each puzzle piece is 1 inch by 1 inch.  If you were to finish your 10 by 12 inch puzzle before today is over, how many more pieces would you need?



                       12 inches










                                   

10 inches



14.
The length of the football field is two times greater than the width.  The area of the football field is 800 square yards.  What is the width of the football field?

A.  10 yd.
B.   20 yd.
C.   30 yd.
D.  40 yd.
E.  NH

15.
In problem number 14 above, what would be the length of the football field?

A.  10 yd.
B.  20 yd.
C.  30 yd.
D.  40 yd.
E.  NH

16.
The speed of light travels at a rate of 186,000 miles per second.  How many 


miles per minute is this? 
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A. 3100
B. 6200
C. 11,160,000

D. 186,000
E. NH

17.
In a scale drawing David made of his living room, one-inch represented two feet.  How many inches long was the living room in David’s drawing if his real living room was 17 feet long?

A.  6 ½ in.
B.  12 in.
C.  8 ½ in.
D.  16 in.
E.  NH



18.
Two cars started out in two different directions to get to Miami, Florida from 

Jacksonville, Florida.  Car A took I-95 and the distance is only 360 miles to Miami.  Car B took I-10 to the turnpike, and the distance from Jacksonville, Florida to Miami, Florida is 420 miles.  Car A was traveling at a speed of 60 miles per hour and car B was traveling at a speed of 70 miles per hour.  Which car will get to Miami first providing neither car stopped for anything?

19.
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                  4860 yards

                                                                                          (
                 (      (                              

                

          
The A team Boy Scout troop went on a ground expedition.  They started at


11:30 A.M. and reached the forest at 3:30 P.M.     About how many


yards did they walk each hour?


A.  1215

B.  4860

C.  1620

D.  81

II. TIME:

20.
Bill started on his field trip at 6:30 A.M.  He concluded at 5:15 P.M. that 

day.   How long was the field trip for Bill?

A. 10 hrs. 45 min.
B. 10 hrs. 15 min.
C. 11 hrs. 45 min.
D. 11 hrs.  
E.  NH

21.
Jill works three and one-half hours each day.  How many hours does she 

work in 14 days?

A. 17 ½
B. 42 ½
C. 49

D.  52 ½
E. NH



Use the graph below to answer questions 22-26.   




       Betty’s and Ricky’s Garden Field 





Potatoes


Corn


           

        Plant April 10,
           
        Plant July 1,


         

     Harvest in 120 days
     
  harvest in 90 days




              


  

Tomatoes





       Plant May 1 and June 5, harvest in 




             

              25 days





  

String beans

             


    

Plant April 1, and May 10,




   
        

harvest in 60 days

 

  

Okra




 

Plant March 1, harvest in 75 days





      Collard Greens

  Turnip Greens 




       Plant April 15,

   Plant June 10,




       harvest in 30 days
              harvest in 45 days


22.
How many months after the potatoes are planted will they be ready to eat?

A. 3

B. 120

C. 110

D. 12

E. NH

23.    
 About when will the first planting of string beans be ready to eat?

A.  May 10th

B.  June 1st

C.   July 10th

D.  May 15th
E. NH

24.   
 How many days longer did it take to grow turnips than collards?

A. 25

B. 35

C. 55

D. 15

E. NH

25.       Which vegetable takes two times as long as turnips?

A. potatoes
B. okra
C. corn
D. tomatoes
E. NH

26.
Corn is planted four months after okra.  How do their harvest times compare?

A. Okra is ready four and half months before corn.

B. Corn is ready 5 months after okra.

C. Okra is ready 120 days before corn.

D. Corn is ready 75 days after okra

E. NH

27.
Bob’s father told him to brush his  hair 2 times a day for 2 minutes each 

time.  How many minutes will Bob brush his hair if he does this for 4 days?    

A. 20

B. 16

C. 40

D. 24

28.
Pacific Standard Time is 3 hours behind Eastern Standard Time.                     
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The clock on the wall shows 10:10 pm in Miami, Florida.  What time is it in 

San Francisco, California?

29.
Ms. Sanders’ cooking class plans on making banana pudding.  It took

35 minutes to make and would have to be refrigerated 4 hours before

serving.  They wanted to serve the banana pudding to the class around 

2:00 p.m.  What is the latest they could start making the banana pudding?

A. 9:25 a.m.

B. 9:35 a.m.

C. 10:25 a.m.

D. 10:35 a.m.

30.
It’s 11:55 a.m. on the clock.  Seventy minutes later, the time is _______.
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A. 12:05 p.m.

B. 1:05 p.m.

C. 1:25 p.m.

D. 2:15 p.m.

31. 
It takes Jim 6 minutes to run a mile.  How many seconds is this?  



  Note:  1 minute = 60 seconds

32.
It cost Tony 23 cents per minute for every batch of toy airplanes he produced.  He decided to produce four batches at his manufacturing plant.  

TOY AIRPLANES PRODUCED PER MINUTE

	Batch
	Number of  Minutes

	First
	8

	Second
	10

	Third
	5

	Fourth
	7



How much did it cost Tony to produce four batches of toy airplanes?

33.      Mary takes one lap around the track and it normally takes her 4 minutes to 

do this.  Yesterday it took her 3minutes and 15 seconds to run around the track.  What is the difference in time from one day to the next for Mary to run around the track?

    ( One minute  = Sixty seconds)


A.  7 min. 15 sec.
B.  1 min. 45 sec.
C.  45 sec.
D.  35 sec.
E.  NH

34.
It cost Jerry 34 cents per minute for every group of cassette tapes he     produces.  He decided to produce four groups at his recording studio.  

CASSETTE TAPES PRODUCED PER MINUTE

	Group
	Number of  Minutes

	First
	12

	Second
	10

	Third
	9

	Fourth
	7



How much did it cost Jerry to produce four groups of cassette tapes?

35.
Sally wanted to bake a 12-pound turkey for Christmas.  She was told to bake 


the turkey for 30 minutes per pound.  How long did it take her to bake the 


turkey?


A.  6 hours
B.  4 hours
C.  36 hours

D.  24 hours

III.  WEIGHT:

36.
Billy Bob and his cousin James Jones were flying to Mexico.  They were 

going in a three-seater airplane.  The plane could only carry a maximum 

weight of 600 pounds.  Billy weighs 193 pounds, and James weighs 238 

pounds.  What is the most weight that the third party could weigh on this 

trip to Mexico?

A.  431 lbs.

B.   421 lbs.

C.   179 lbs.

D.   169 

E.  NH


37.
How would you regroup 11 lbs. 5 oz. in working this subtraction 

problem?





11 lb.   5 oz.

    


          -   8 lb. 12 oz.  
38.      Sandy placed a 16-ounce weight on one side of a balance scale.  Then she   

           placed 32 sticks of gum in the other side of the scale to make it balance.  Each 

           stick of gum has the same weight.  How much does one stick of gum weigh?

39.      How many ounces are there in 2 pounds?


A. 8

B. 16

C. 24

D. 18

E. NH

40.
David has three suitcases that weigh 16.3 pounds, 18 pounds and 19.7 

pounds.  How many more pounds could he carry without going over 72

pounds?

41.       Billy weighs 193 pounds 4 ounces.  Sally weighs 100 pounds and 11 ounces.   

How many more pounds does Billy weigh than Sally?

A.  93 pounds 3 ounces

B.  92 pounds 3 ounces

C.  92 pounds 5 ounces

D.  92 pounds 9 ounces

E.  NH

42.

Alex placed a 10-ounce weight on one side of a balance scale.  Then he placed 

20 balls on the other side of the scale to make it balance.  Each ball weighs the same.  How much does each ball weigh?
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A.   0.5 oz.

B.   1.0 oz.

C.   10 oz.

D.   15 oz.

43.
Complete the table below of the different price of apples.





44.
Which measurement represents the smallest amount?

A.   gallon

B.   ounce

C.   pint
 
D.    quart

45.
If every one gave a quart of blood, how many people would it take to make 

6½ gallons?

A.  12.5

B.   24.5

C.   26


D.   28


E.   NH



46.
Gloria was having a birthday party for her six-year-old daughter.  The recipe for the birthday cake requires four cups of flour for a two-pound cake.  A two-pound cake would feed 12 people.  Gloria decided to invite 48 people to the birthday party.   How many cakes would she need to bake for the four members of her family and the invited guests?
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47.
Mr. Johnson’s class is having a party to kick off the FCAT.  There are 32 

students in his class.  If each student drinks two cups of lemonade, how many

gallons of lemonade will Mr. Johnson have to purchase for his students?
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Answers to Measurement Problems

1 through 47
1.
Mary’s food container weighed 50 pounds.  She ate 32 ounces of food out 

of her container each day.  After 5 days, how much will her food container 

weigh?

A.   45 pounds          B.  18 pounds            C.  40 pounds        D.  10 pounds

           16 ounces = 1 pound                 Step 1:    32 ounces divided by 16 = 2

           Step 2:     2 pounds x 5 days = 10 pounds         Step  3:    50 – 10 = 40   


Therefore, 40 pounds would be left in the container   

2.     
In Albany, New York there was 7.678 inches accumulation of snow in one 

hour.  If the temperature continues on this same pattern, how many inches of snow will be accumulated in ten hours?

             7.678   Inches of snow per hour


             x   10  

76.78 Inches of snow in 10 hours

     
Therefore, 76.78 inches of snow will accumulate in 10 hours
3.     
A football field is l00 yards long.  Harry ran the entire football

field.  How far did he run in feet?


                                                 100 yards = ? feet

        
3 feet = one yard

                                           100 yards

                                         X   3 feet

                                           300 = feet

      
Answer: 300 feet

4.         How would you distribute equally a 36-foot long piece of bolt material to 

four girls who only wanted theirs in inches?

Step 1:   Multiply 36 times 12 = 432
Step 2:   Divide 432 by 4 = 108

A.  39 in
B.  144 in
C.  432 in

D.  12 in
E.  NH

Answer = 108 inches

5.         Harry’s father told him to rake the leaves in the yard 3 times a day for 3 

            minutes each time.  How many minutes will Harry rake the leaves in his 

            yard if he does this for 5 days?


   Step 1:  Multiply 3 times 3 = 9 minutes per day


   Step 2:  Multiply 9 minutes per day times 5 days = 45 minutes
           A.  14

B.  45


C.  30

       D.  63

6.        A soccer field is 120 yards long.  The A team ran the length of this 

           soccer field.  How far did they run in feet?  


Note: 1 yard = 3 feet


Step 1:  Multiply 120 X 3 = 360 feet

7.
Donald’s Delicatessen decided to make a 300-foot long submarine sandwich for the graduating seniors at Palmer High School.  The sandwich is split into  how many feet per piece to feed 75 seniors.

Step 1:   Divide 300 by 75  = 4

    
A.  375 feet
B. 75 feet
C.  4 feet
D.  3 feet
E.  NH

8.
The chart below shows the average amount of rain that fell in Miami, Florida four times during the month of June.

RAINFALL IN MIAMI DURING THE MONTH OF JUNE

                                                                                                                                                    Step 1

	Dates
	Average Rainfall

	June 1
	4.87 inches

	       June 5
	            3.75 inches

	       June 12
	            3.98 inches

	June 20
	            3.56 inches








   16.16                       Add


What is the average amount of rainfall in Miami, Florida during the four 

days in June?




Step 2:  16.16 (4 = 4.04


                                                                             Answer

9.         Mr. Paul is 76 inches tall.  What is Mr. Paul’s height in feet and inches?

Step 1:   12 inches = 1 foot               Step 2:     76 (12 = 6 ft  4 in

A.  7 ft.   6 in.

B.  6 ft.   4 in

C.  6 ft.  8 in

D.  6 ft.  6 in 

10.      Mr. Evans travels by car to Los  Angeles, California from Miami, Florida.  If 

he travels at a rate of 460 miles per day, how far will he travel in 3.5 days?


A.  1610 miles

B.  1510 miles

C.  463.5 miles
D.  1580 miles


E.  NH

11.
Sheila made a chart to see who threw the ball the farthest.   The children are 

listed in alphabetical order.

	Child
	Length of Throw (in yards)                    

	Janice
	 9.6

	Paul
	 9.7

	Phillip
	 9.40

	Rebecca
	9.59


1st     2nd 

Which child threw the second farthest?

A.  Janice
          B.  Paul
        
C.  Phillip
                 D.  Rebecca  

12.     Florida City Elementary students are painting an 18 ft. X 21 ft. painting for 

     the auditorium.  One can of paint covers 65 square feet.  How many cans of 

     paint is needed to cover the entire painting?     



Step 1:   18 x 21 = 378 square feet


                    


Step 2:   378 (65 =5.82 cans of paint
          


Therefore, 5.82cans of paint is equivalent to  6 cans.


Answer 6 cans

13.
The teacher is giving a $20 prize for the first student who completes the puzzle.  Each puzzle piece is 1 inch by 1 inch.  If you were to finish your 10 by 12 inch puzzle before today is over, how many more pieces would you need?





      12 inches
    Each square piece puzzle represents 1 inch








10 inches





11 inches

Answer = 11 X 10 = 110 pieces

Step 1:  There are 10 inches in length and 12 inches in width altogether,  

                          (10 X 12 =120)

Step 2:  Since there are 10 square units already there, there are 110 square  

              units left.  120 – 10 =110  or 10 X 11 = 110  

14.      The length of the football field is two times greater than the width.  The area 

of the football field is 800 square yards.  What is the width of the football 

field?


Step 1:   To find the area multiply the length by the width.  


Step 2:   Width = x    &   Length  = 2x

Step 3:
   2x times x = 2x2  

Step 4:   2x2  = 800   =    x2  =      400

2 2

Step 5:   x2 = 20

A. 10 yards

B.  20 yards

C.  30 yards

D.  40 yards
15.
In problem number 14 above, what would be the length of the football field?

Step 1:  If the width of the football field is 20 yards, and the length is 2 times                   the width, then 2 x 20 is equal to 40.

Therefore, the answer is 40 yards
A.  10 yards

B.  20 yards

C.  30 yards

D.  40 yards
16.      The speed of light travels at a rate of 186,000 miles per second.  How many 

miles per minute is this?







Step 1:   186,000 (60 =  3100

A.  3100

B.  6200

C.  11,160,000

D.  186,000

17.
In a scale drawing David made of his living room, one-inch represented two       feet.  How many inches long was the living room in David’s drawing if his real living room was 17 feet long?

A.   6 ½ in.

B. 12 in.

C. 8 ½ in.

D. 16 in.

E.   NH



18.
Two cars started out in two different directions to get to Miami, Florida from 

Jacksonville, Florida.  Car A took I-95 and the distance is only 360 miles to Miami.  Car B took I-10 to the turnpike, and the distance from Jacksonville, Florida to Miami, Florida is 420 miles.  Car A was traveling at a speed of 60 miles per hour and car B was traveling at a speed of 70 miles per hour.  Which car will get to Miami first providing neither car stopped for anything?



SOLUTION:




Step 1:  Car A:  360 ( 60mph = 6 hrs.




Step 2:  Car B:  420 ( 70mph = 6 hrs.



Therefore, it takes Car A & Car B 6 hours each to get to



Miami.

19.
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                  4860 yards

                                                                                          (
                 (      (                              

                

          
The A team Boy Scout troop went on a ground expedition.  They started at


11:30 A.M. and reached the forest at 3:30 P.M.     About how many


yards did they walk each hour?



SOLUTION:




Step 1:  Find out how many hours is between 11:30 





    a.m. and 3:30 p.m. = 4




Step 2:  Divide 4860 by 4 or the number of hours



Therefore, the answer is A or 1215.


A.  1215

B.  4860

C.  1620

D.  81

20.
Bill started on his field trip at 6:30 A.M.  He concluded at 5:15 P.M. that 

day.   How long was the field trip for Bill?

A.  10 hrs. 45 min.
B.  10 hrs. 15 min.
C.  11 hrs. 45 min.
D.  11 hrs.

21.
Jill works three and one-half hours each day.  How many hours does she 

work in 14 days?


SOLUTION:




Step 1:
Change 3 ½ to an improper fraction






= 7/2.




Step 2:
Multiply 7/2 x 14 = 49.
A. 17 ½
B. 42 ½
C. 49

D.  52 ½
E. NH

Use the graph below to answer questions 22-26.   




       Betty’s and Ricky’s Garden Field 





Potatoes


Corn


           

        Plant April 10,
           
        Plant July 1,


         

     harvest in 120 days
     
  harvest in 90 days




              


  

Tomatoes





       Plant May 1 and June 5, harvest in 




             

              25 days





  

String beans

             


    

Plant April 1, and May 10,




   
        

harvest in 60 days

 

  

Okra




 

Plant March 1, harvest in 75 days





      Collard Greens

  Turnip Greens 




       Plant April 15,

   Plant June 10,




       harvest in 30 days
              harvest in 45 days


22.
How many months after the potatoes are planted will they be ready to eat?


A.  3

B.  120

C.  110

D.  12

E.  NH  or 4 months

23.  
About when will the first planting of string beans be ready to eat?

A.  May 10th

B.  June 1st

C.  July 10th

D.  May 15th  E.  NH

24.       How many days longer did it take to grow turnips than collards?

A.  25


B.  35

C.  55

D.  15

E.  NH

25.
 Which vegetable takes two times as long as turnips?

A.  potatoes

B.  okra
C.  corn
D.   tomatoes

E.  NH

26.
Corn is planted four months after okra.  How do their harvest times compare?

A.   Okra is ready four and half months before corn.

B.   Corn is ready 5 months after okra.

C.   Okra is ready 120 days before corn.

D.   Corn is ready 75 days after okra

E.    NH

27.
Bob’s father told him to brush his  hair 2 times a day for 2 minutes each 

time.  How many minutes will Bob brush his hair if he does this for 4 days?    



2 times a day



4 minutes per day


       x   2 minutes each time

        x  4 days


            4  minutes per day  

          16 minutes for 4 days


A.  20

B.  16


C.  40


D.  24
28.
Pacific Standard Time is 3 hours behind Eastern Standard Time.                     
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The clock on the wall shows 10:10 pm in Miami, Florida.  What time is it in 

San Francisco, California?

Step 1:   California is 3 hours behind Florida.   10:10 minus 3 hours = 7:10

Step 2:   Therefore, San Francisco, California time is 7:10 pm

29.
Ms. Sanders’ cooking class plans on making some banana pudding.  It took

35 minutes to make and would have to be refrigerated 4 hours before

serving.  They wanted to serve the banana pudding to the class around 

2:00 p.m.  What is the latest they could start making the banana pudding?

A. 9:25 a.m.

B. 9:35 a.m.

C. 10:25 a.m.

D. 10:35 a.m.

30.
It’s 11:55 p.m. on the clock.  Seventy minutes later, the time is _______.
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A.   12:05 p.m.
B.   1:05 p.m.

C. 1:25 p.m.

D.   2:15 p.m.

31.
It takes Jim 6 minutes to run a mile.  How many seconds is this?  



  Note:  1 minute = 60 seconds





Step 1:  6 minutes times 60 seconds = 360 seconds
32.
It cost Tony 23 cents per minute for every batch of toy airplanes he produced.  He decided to produce four batches at his manufacturing plant.  

TOY AIRPLANES PRODUCED PER MINUTE

	Batch
	Number of  Minutes

	First
	8

	Second
	10

	Third
	5

	Fourth
	7



How much did it cost Tony to produce four batches of toy airplanes?


Step 1:
  Add the four batches;   8 + 10 + 5 + 7 = 30


Step 2:  Multiply 30 X .23 = $6.90


Therefore, the answer is $6.90 

33.
Mary takes one lap around the track and it normally takes her 4 minutes to  

           
do this.  Yesterday it took her 3minutes and 15 seconds to run around the 

           
track.  What is the difference in time from one day to the next for Mary to   

          
run around the track?

    ( One minute  = Sixty seconds)


A.  7 min. 15 sec.
B.  1 min. 45 sec.
C.  45 sec.
D.  35 sec.
E.  NH

34.      It cost Jerry 34 cents per minute for every batch of cassette tapes he   

produces.  He decided to produce four batches at his manufacturing plant.  

CASSETTE TAPES PRODUCED PER MINUTE

	Batch
	Number of  Minutes

	First
	12

	Second
	10

	Third
	9

	Fourth
	7



How much did it cost Jerry to produce four batches of cassette tapes?

Step 1:  Add all four batches = 38 minutes


Step 2:  Multiply 38minutes by .34 = $12.92

35.
Sally wanted to bake a 12-pound turkey for Christmas.  She was told to bake 


the turkey for 30 minutes per pound.  How long did it take her to bake the 


turkey?




12



        x  30



360 (60 = 6 hours



          360 minutes   =






Answer


A.  6 hours
B.  4 hours
C.  36 hours

D.  24 hours
36.
Billy Bob and his cousin James Jones were flying to Mexico.  They were 

going in a three-seater airplane.  The plane could only carry a maximum 

weight of 600 pounds.  Billy weighs 193 pounds, and James weighs 238 

pounds.  What is the most weight that the third party could weigh on this 

trip to Mexico?

A.  431 lbs.

B.  421 lbs.

C.  179 lbs.

D.  169 lbs.

E.  NH

37.
How would you regroup 11 lbs 5 oz in working this subtraction 

problem?





11 lbs.    5  oz.             16 ounces = 1 pound

· 8 lbs.  12  oz.

     
 Borrow one pound from the l1 pounds and change it into ounces.

      
Then, add the 16 ounces to the 5 ounces and proceed to subtract.

                                             1011 lbs 5 16+5 =21 oz.     1 pound = 16 ounces   

      
Answer:   10 lbs. 21 oz.  

38.      Sandy placed a 16 ounce weight on one side of a balance scale.  Then she   

           placed 32 sticks of gum in the other side of the scale to make it balance.  Each 

           stick of gum has the same weight.  How much does one stick of gum weigh?


Step 1:  Divide 16 ounces by 32 sticks of gum.  16 ( 32 = 0.5 ounce


Therefore, each gum stick weighs 0.5 ounce
39.
 How many ounces are there in 2 pounds?

     A.  8


B.  16


C.  24


D.  18

E.  NH




16 ounces = 1 pound


Therefore, 2 pounds equals 32 ounces

40.      David has three suit cases that weigh 16.3 pounds, 18 pounds and 19.7 

pounds.  How many more pounds could he carry without going over 72 

pounds?    Step 1:   16.3 + 18 + 19.7 = 54        Step  2:  72 – 54 = 18


Therefore, David could only carry 18 more pounds without going over.

41.      Billy weighs 193 pounds 4 ounces.  Sally weighs 100 pounds and 11 ounces.   

How many more pounds does Billy weigh than Sally?

A.  93 pounds 3 ounces

B.  92 pounds 3 ounces

C.  92 pounds 5 ounces

D.  92 pounds 9 ounces
                  1 pound = 16 ounces

                      192                 6 ounces plus 4 ounces = 20


Billy     193 pounds       4 ounces


Sally     100 pounds     11 ounces







               92 pounds       9 ounces

42.
Alex placed a 10-ounce weight on one side of a balance scale.  Then he placed 

20 balls on the other side of the scale to make it balance.  Each ball weighs the same.  How much does each ball weigh?
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Step 1:    10 ounces divided by 20 balls = 0.5

Therefore, 0.5 ounces is the weight of each ball. 


A.  0.5 ounce

B.  1.0 ounce

C.  10 ounces

D.  15 ounces 

43.
Complete the table below of the different price of apples.








SOLUTION:




Step 1:  David:  Multiply 3 x .35 = $1.05




Step 2:  Alice:  A. $1.20 ( 12 = $.10 per item.






      B. $3.60 ( .10 = 36




Step 3:  Mary:  $1.99 x 4 = $7.96



44.    
Which measurement represents the smallest amount?

A.  gallon

B.  ounce

C.  pint

D.  quart
45.     
If every one gave a quart of blood, how many people would it take to make 

6½ gallons?



Step 1:   Four quarts =  1 gallon           Step 2:   6½ x 4 = 26

A.  12.5

B.  24.5
C.  26


D.  28

E.  NH

46.
Gloria was having a birthday party for her six- year old daughter.  The recipe  for the birthday cake requires  four cups of flour for a two-pound cake.  A two-pound cake would feed 12 people.  Gloria decided to invite 48 people to the birthday party.   How many cakes would she need to bake for the four members of her family and the invited guests?
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SOLUTION:




Step 1:  Add 48 + 4 = 52




Step 2:  Divide 52 by 12 = 4 1/3.



Therefore, Gloria had to bake 5 cakes.

47.
Mr. Johnson’s class is having a party to kick off the FCAT.  There are 32 

students in his class.  If each student drinks two cups of lemonade, how many

gallons of lemonade will Mr. Johnson have to purchase for his students?




[image: image11.wmf]
Step 1:   One pint = 2 cups


Step 2:   Two pints =  1 quart

Step 3:   Four quarts = 1 gallon

Step 4:   16 cups = 1 gallon

Therefore, 32 students would drink two gallons if each student drank one

cup of lemonade.  However, in this case each student drank two cups.


Answer = 4 gallons
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